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76.

Part A: Grammar and Vocabulary

Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see
four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that
best completes the sentence. Then mark your answer sheet.

You told me that you went to school yesterday, ------ I found out that you ---------- at the cinema.

1) so/ are seen 2) and / saw
3) or / were seeing 4) but / were seen
77. As you know, researchers ------—-—- a great deal of research to find a cure for cancer. But
unfortunately no perfect cure --------- so far. B
1) do / was found 2) have been done / has found
3) have done / has been found 4) is done / is found
78. 1 suppose there weren’t many mistakes in his dictation, ?
1) were there 2)don’t1 3) were they 4)do I
79. Since my uncle came to this city, he ---------—- to very few parties, --------- ?
1) was invited / didn’t he 2) has invited / hasn’t h
3) has been invited / has he 4) invited / did he
80. The dedicated physician --------——- for a moment to reflect on why the patient had such low blood
pressure.
1) burst 2) paused 3) spared 4) signaled
81. The researcher emphasized that it was a/an ------—-—--- scientific experiment and carried no
element of risk.
1) ordinary 2) unconditional 3) grateful 4) immed:ate
82.  She sought to explain that communication skills appeared ----------- for success in marketing.
1) ethical 2) essential
3) incomprehensible 4) compound
83. A few questions were carefully phrased to ----------- some information from the students about
their sense of identity.
1) reply 2) bring up 3) elicit 4) lower
84. Necessary measures are introduced to ----------- tourism in this particular region.
1) boost 2) regard 3) found 4) dedicate
85. This author made a name for himself as a/an ----------- to a lot of young poets.
) imagination 2) inspiration 3) communication 4) recommendation
86. The original document -------——-- some details about the nuclear attack.
1) looked up 2) contained 3) claimed 4) supposed
87. He clearly pointed to the fact that this local ------- could be regarded as a national problem.
1) heritage 2) issue 3) generation 4) worth

Part B: Cloze Test

l| Directions: Questions 88-92 are related to the following passage. Read the passage and decide which i

M choice (1), (2), (3), or (4) best fits each space. Then mark our answer sheet.

In his essay, the well-known and dedicated researcher makes some key points. He especially (88) -

——————————— the importance of developing a healthy and close relationship with the next generation.

He believes we are all morally responsible (89) ------ making them familiar with our national
heritage. It (90) -------—----- our ethical values, social customs, moral principles, traditional
clothing, cultural products, Persian arts and handicrafts, ancient artifacts, beautiful natural
wonders and, above all, religious beliefs. As a result, they will actually build a sense of (91) -------

----- , develop their national identity, and feel more comfortable with their elders. In my opinion,



1 i | (et

reading such essays (92)------------- to whoever is trying to create a promising future for our
country and nation.

88. 1) appreciates 2) deserves 3) handles 4) figures out
89. 1)of 2)in 3) for 4) to
90. 1) isincluding 2) included 3) is included 4) includes
91. 1) belonging 2) failure 3) pity 4) uncertainty
92. 1) recommend 2) is recommended

3) recommends 4) are recommended

Part C: Reading Comprehension
Directions: In this part of the test, you will read three passages. Each passage is followed |

by some questions. Answer the questions by choosmg the best choice (1), (2), (3), or (4).
Then mark your answer sheet.

PASSAGE 1 :
Agriculture is the art and science of cultivating the soil, growing crops and raising livestock. It can
be defined as the preparation of plant and animal products for people to use and their distribution to
markets. It provides most of the world’s food and fabrics. Cotton, wool, and leather are all
agricultural products. Agriculture also provides wood for construction and paper products. These
products, as well as the agricultural methods used, may vary from one part of the world to another.

Over centuries, the growth of agriculture contributed to the rise of civilizations. Before
agriculture became widespread, people spent most of their lives searching for food hunting wild
animals and gathering wild plants. About 11,500 years ago, people gradually learned how to grow
cereal and root crops, and settled down to a life based on farming. By 2,000 years ago, much of the
Earth’s population had become dependent on agriculture. Scholars are not sure why this shift to
farming took place, but it may have occurred because of climate change.

When people began growing crops, they also began herding and breeding wild animals.
Adapting wild plants and animals for people to use is called domestication. The first domesticated
plant was probably rice or corn. Chinese farmers were cultivating rice as early as 7500 BC.

93. What is the best topic for the passage?

1) Agricultural Products 2) The First Nation to Grow Crops
3) The Start of Agriculture in China 4) The History of Agriculture

94. The underlined word “contributed” in paragraph 2 is closest in meaning to ---------—-
1) increased 2) helped 3) decreased 4) happened

95. It CANNOT be understood from the passage that ——-—-—-—muun-

1) agriculture had a part in the earliest human settlement in the world.

2) people started growing crops and raising livestock almost at the same time.

3) people follow much the same methods of growing crops around the world.

4) wild animals were only regarded as food resources before the appearance of farming.
96. The underlined word “it” in paragraph 2 refers to ----—-—--eeeem—

1) shift 2) farming 3) climate change 4) population
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PASSAGE 2 .

A rainbow is a multicolored arc made by light striking water droplets. The most familiar type of
rainbows is produced when sunlight strikes raindrops in front of a viewer at a precise angle (42
degrees). Rainbows can also be viewed around fog, sea spray, or waterfalls. A rainbow is an optical
illusion, meaning it does not actually exist in a specific spot in the sky. The appearance of a rainbow
depends on where you're standing and where the sun (or other sources of light) is shining. The sun
or other sources of light is usually behind the person seeing the rainbow. In fact, the center of a
primary rainbow is the antisolar point, the imaginary point exactly opposite the sun.

Rainbows are the result of the refraction and reflection of light. Both refraction and reflection are
phenomena that involve a change in a wave's direction. A refracted wave may appear "bent", while
a reflected wave might seem to "be sent back" from a surface. Light entering a water droplet is
refracted. It is then reflected by the back of the droplet. As this reflected light leaves the droplet, it
is refracted again, at multiple angles.

The radius of a rainbow is determined by the water droplets' refractive index. A refractive index
is the measure of how much a ray of light refracts (bends) as it passes from one medium to
another—from air to water, for example. A droplet with a high refractive index will help produce a
rainbow with a smaller radius. Saltwater has a higher refractive index than freshwater, for instance,
so rainbows formed by sea spray will be smaller than rainbows formed by rain.

97. What is the main idea of the passage?
1) To describe a rainbow as a natural wonder
2) To show why and how a rainbow is produced
3) To explain the role of mathematics in nature by giving an example
4) To mention where a rainbow is more probable to be seen

98. According to the passage, which of the following does NOT have an effect on the way a rainbow
looks like?

1) The size of droplets 2) The position of the viewer
3) The amount of salt in the water 4) The position of the sun
99. According to the passage, what plays the role of a reflecting surface in the process of producing
a rainbow?
1) The sun 2) The viewer’s eyes
3) The sky 4) The back of a droplet

100. All of the following statements are TRUE according to the passage EXCEPT ---------- .
1) Light is bent twice, and reflected once after entering a droplet.
2) Sea water produces smaller rainbows compared to freshwater.
3) The light leaves a droplet at the same angle as it enters.
4) The sunlight has to strike raindrops only at an exact angle to produce a rainbow.
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